Practice:
[image: ]Find the area and circumference of each circle. Leave your answers in terms of π and to one decimal place.Area:
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[image: ]Determine the area of each circle:
Sectors
[image: ]Determine the area and arc length of the following sectors

[image: ]Application: Problems involving circles and half circles
[image: ]






Problems involving sectors
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Exercise #3: A garden has the shape of a circular sector such that its straight sides measure 50 feet in length and

the central angle is 132", If the garden needs to be surrounded by fencing, how many feet of it are needed?
Round to the nearest foot.
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The following sector has a radius of 10 inches and a central angle of 30". Which of the following is its arc
length, in inches?
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The area of a circle is 187 square inches. If the area of a sector of this circle is 67 square inches, then
which of the following must be the sector's central angle?

(1) 60° (3) 1200

@) 90 () 240°
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Luca is designing a propeller system that consists of 3 blades, each of which is
identical. The blades are sectors of a circle that have radii of 4 inches and central
angles of 20°. The blades are to be made from steel that weighs 16 grams per square
inch. Determine the weight of the three blades together to the nearest gram.
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5) radius=5.1m 6) radius=4 ft

7) diameter = 4 mi 8) diameter = 8 cm

9) circumference = 37.7 in 10) circumference = 49 mi
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Exercise #1: For the circle whose equation is
area?

~2)"+(y+5) =36, which of the following is closest to its
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Circular objects are often added onto other shapes and then areas are found.

Exercise #2: A shape is constructed from a rectangle whose length is 10 inches and whose width is § inches
along with a semicircle attached at the end. What is the total area of this shape?

(1) 80+327 (3) 80+87 o

(2) 887 @) 967
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1. Ifa circle has a circumference of 107 inches, then which of the following represents the area of the same
circle in square inches?

5z (3) 257

@) 207 (4) 1007

2. In the design shown below, four semicircles are attached to a square whose area is 36 square centimeters.
Which of the following is closest to the total area of the shaded semicircles, measured in square
centimeters?
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(3) 113
(4) 158
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